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B o= R W &
AR - AR - M Hikg LA B 5 &
B T GER R SR)
1. +T
(1)+T
ot BE L X 1. 000
Hi LR E T (R Bt m3 341. 000
BT t=30cm n3 34. 000
Hi LR H T (BIE) Bt m3 208. 000
fim H LA A Mg+ L—X) n3 79.000
B D) - 1 B T Bt i 703. 200
gt #E(1)A X 1..000
HiLHEE T (R o (1)A m3 22. 000
Hi LR H T (BIE) Hes (1A m3 19. 000
fit H) AEA HE(I)A DL—2X) m3 6. 000
R+ v 1.000
I e & LR n3 21.000
AR T i B+ 0. 04km m3 52. 000
PR HOE 0. 04km m3 4.000
Bt X 1. 000
R i B+ 1 8km m3 27. 000
PRABE #E 1. 8km n3 2. 000
gL d=0.3 m3 29. 000
2. HimT
(1) ¥ T
ar 7 Y — MgmE L v 1. 000
WE T (227 U — Ml J23 15em 18-8740BB W/C | 342. 300
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O S R T
TFE - R - A0 Biks AL Kok i &
TR IR L ¢ 6. 0X 150X 150 nf 325. 200
BHAE 1 O FUR T (25%) m 143. 800
B T4 ﬁ}iif}?}g 6 (mm) kg 603. 000
F bR s [ t10mm nf 6. 000
3. EmEREL
(1) R T
T P T =X 1.000
A~y P (ERA) 7 v —{ERL=300 Vj%fﬁ ﬁﬁ*{giﬁ%ﬁﬁiwb i 667. 200
FLAAR T (SL=2m) m 43. 000
4. BEEET
(1) BeEE T
PERE T (o 1 BE L) /)R B0 T BE T X 1. 000
A BEBA B T BCRRORE S [ oD 2 L BEE2. Om WA & A 7 ol 9. 600
R BERAABE ] 5 35 REL ST Al ] 0D 55 T BEES. Om WA & A 7 ol 28. 800
A BEAA BE T HCRORE S [ oD 2 L BEES. bm B & A 7 ol 20. 100
A BEAA BE T BCRRORE S [ oD 2 L BEEA. Om W& A 7 ol 7.200
R BERAABE ] 5 35 REL ST Al ] 0D 55 T BEEA. bm W& A 7 ol 107. 500
A BEAA B T BCRROREL S [ oD 2 L BEES. Om B & A 7 ol 54. 900
FEmE R IE T m 112. 000
5. JEFA B T
(1)EREAT Rk T
— FL—/ ik E T = 1.000
e Rl — ‘%%uuc—@, JELHRHD, B3 m 56. 500
6. XL
(1) %L
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B o= R W &
AR - AR - M Hikg LA B 5 &
G an X 1. 000
A DG T m 80. 000
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